Toirerett 4wy fATEes 1y, Ciepell, Rdwg

TS TG A

2039-38 (TN - B)

TS el OIfRL: EINTE, @I o¢, 2088



MELIERIC] AT
@S 1211
RTINS FTM L)
SRR I FHAE BT < SRTERe| &S Tew| Tew A | &G [T
Sy PR T = o
d00% | 50% [vo%| 0% | wo%
TSR 2T . . .
3 21 [5.5] 19 @ BIef 31247 [5.5.5] 72721 17 @ 5ia |12 (85 |8 090  |.03» Qb ok .20
FAHEIR AW |20 R - -
< ﬂﬂ\?ﬂ \O
TR fRrser [\f] = g I [5.2.5] TGUFS QARG |2 (85 | 0%  |.038 033 |.055  |.oow
TGRS (ST, ¢
[S.0] o3 M2aR [5.9.5] 3129 % < ﬁw 3 oo |.009 .00 |.00¢ |.008
[5.8] AMHCTR AP Afem [5.8.5] AfSMER A4y |14 N 5
gf] FHCTR ST 47 SO A [5.€.>] BT SATSeT AT © N N N S S
[5.b] QICH, SIS 8 A TRAH ) i
o2 2T [5.0.5] 72 ® AfSmA |22t © © N N N N
[>.9] G fefes Piey oot
BIAFER SAIFFE B513 FAO Oy |[5.9.5] ITAIRS Soirwen | Feaqt © N N > > >
AR
Qg
BISEIKCIE ToATereT fEee
R Wﬁ o | Rﬁ'b] f W%W [.5.5] sfeieg e [sien 8 8 R S N NG
{W‘T;
5] Gofreret Wwy N cee 3.3] AR efsmea
E:ﬁ—y,]TW Tout [;W ;]% - h SN N 28 2 D | S
[2.3] 19 2CTH 17 9 203033
o IR S ST wife wfh |[2.2.0] 9fEF© wHife % 8 80 0% O ) N
FEH SR @ AFGFRe |
[2.9] ST (Ml P e [2.9.5] IS Broira
% N o o o le) le)
BIEEE| SR
[2.8] ST kg it [2.8.5] €ibfezar= % ? Y QY ST R 90
ol 2 Tuet ©IfFR: GRS, @FFT o, 2038



MELIERIC] T
RIS 1211
RTINS IR L)
SRR I FHAE BT < SRTERe| &S Tew| Tew A | &G [T
Sy PR T = o
0% | 50% |vo%| 0% | Yo%
[R.€] S g AfRR2aiGte [2.¢.5] 9i6foRR= % N .¢oo .@@o Yoo |.ugo  |.900
[2.v] AfAfers Afeh wtefes @MT | [2.0.5] (@fe o6 .
I (e RIS AL atl 2 > > L N
IS fNatsier g;,,_:].q ot STy [©.5.5] Rezeige Afae ;g% 8 0.009% |0.0043
e ¢ = UFAIHI TIPS TATIHCSIN 3] SopiRre N IR 2R
IR MIREICEOR ;\%{SLW 65\') NE® 5;; ]E .:{:”UT ’ 2 o% 8 0.0 |o.0d 0.05%[0.05% |o.0d0
[9.0] IETE QTS AAPPT FARAR | [9.9.5] TR AT ;W 8 0.0¢ |0.0¢ 0.0¢ [o.0¢ |o.0¢
Rl RCIGEICIE
o1 e qrar [8.5] TR AT VTS Ay s RCIE
& 1ol AR do R [8.5.5] f{fer® =ifssniel . 8 0.05 0.0% 0.0%
99
RISk
[8.%] cateTIETCR 2 i [8.2.5] Rfg® “fame s |° 0.00  fo.0% 0.03 0.0
[8.9] W e 7F AfS=@M=| [8.9.5] AfSTIM 245t FLAT © 38 %0 St |y
oA 415 [¢.5] S8 o1et SRR (fofafe @ [[@.5.5] ToATereia R
SRR 8 ?jfg do S - . do 0,030 0,0,030 |0,030|0.,030 0,030
AT PeRo T T 1) TAIRT ?
oL © gl ©IfF2: G, PR o, 2038



AR W= AT
RTINS 5efS
T | RrEe . ¢ ¢ FHEAE - oS 121 ,
Ll Sty ’ e = FZSERIC] Bax i ELC| ﬁm”“.l v
300% | 50% [ro%| W% | wo%
AR 3 [@.5.5] Y&IEE FHARFEAT  [[@0.5.5.5] W&IHR FApg=r ot TS0
FREFITP BICAIEC] rEIfie i
axy  |FEFEE 0o
BRI [@F.5.%] 3-IS=1Y/ T [O%..%.5] 2-Te157/ TEI= S I
[4.). 0] Sfstie Afowa [@¥.5.9.5] Sfecar dfewa o 8
FAfeET I NI IS ’
[49.5.8] CTT 2= Afoxfo [99.5.8.5] G #wi Afefs ot TR
[@¥.5.¢] O SfFFT= [G¥..¢.5] ©27 SRR it ] o
*3< (provisional) ©27
ST 8 Tuet ©IfFR: GRS, @FFT o, 2038



